

SOLUTION OF AN INVERSE PARABOLIC PROBLEM WITH UNKNOWN SOURCE-FUNCTION AND NONCONSTANT DIFFUSIVITY VIA THE INTEGRAL EQUATION METHODS

F. M. Maalek Ghaini*

Iran University of Science and Technology and Yazd University, Yazd, Islamic Republic of Iran

Abstract

In this paper, a nonlinear inverse problem of parabolic type, is considered. By reducing this inverse problem to a system of Volterra integral equations the existence, uniqueness, and stability of the solution will be shown.

1. Introduction

The problem of determining unknown parameters in a parabolic partial differential equation has been treated previously by some authors [2,4]. In some applications the boundary conditions are not all linear [3,6-9], and the diffusivity is not constant [1]. Moreover, it may happen that the source-function is also unknown and one has to determine it from some suitable overspecified boundary conditions [5].

A very powerful method for solving partial differential equations is reducing them to a system of integral equations [1].

In this paper, we consider the following inverse problem:

Suppose T is a given positive constant, $D_T = \{(x, t) | 0 < x < 1, 0 < t < T\}$, a is a given positive continuous function of time defined on the interval $[0, T]$ with a positive minimum A , g and h are given piecewise-

continuously differentiable function, each defined on appropriate domains. We are seeking the functions u, f, G and H such that satisfy the following conditions:

$$u_t(x, t) = a(t)(u_{xx}(x, t) + f(t)), \quad 0 < x < 1, \quad 0 < t < T \tag{1.1}$$

$$u(x, 0) = l(x), \quad 0 \leq x \leq 1 \tag{1.2}$$

$$u(0, t) = G(u_x(0, t)), \quad 0 \leq t \leq T \tag{1.3}$$

$$u(1, t) = H(u_x(1, t)), \quad 0 \leq t \leq T \tag{1.4}$$

and the overspecified conditions:

$$u_x(0, t) = g(t), \quad 0 \leq t \leq T \tag{1.5}$$

$$u_x(1, t) = h(t), \quad 0 \leq t \leq T \tag{1.6}$$

$$u\left(\frac{1}{2}, t\right) = s(t), \quad 0 \leq t \leq T \tag{1.7}$$

It is clear that for any given functions f, a, g, h, s, G and H there may be no function $u(x, t)$ satisfying all of the conditions (1.1)-(1.7). However, for any given piecewise-continuous functions f, g and h the problem

Keywords: Parabolic equations; Inverse problems; Overspecified conditions; Diffusivity; Volterra integral equations continuous functions, s is a given continuously differentiable function, and l is a given two times

* E-mail: maalek@yazduni.net

† AMS Subject Classification: 35R30,45

(1.1), (1.2), (1.5) and (1.6) has a unique solution $u(x, t)$.

Now we give the following definition:

If for some choice of the functions f, G and H the solution $u(x, t)$ to the problem (1.1), (1.2), (1.5) and (1.6) also satisfies (1.3), (1.4) and (1.7), then we call the quadruple (u, f, G, H) a solution to the inverse problem (1.1)-(1.7).

A physical interpretation for such a problem arises from the one dimensional conduction of heat in a homogeneous bar of unit length, one end located at the origin, when the diffusivity is not necessarily constant, and the source-function is an unknown function of time. For given functions $l, g, h,$ and s there exist suitable source-function f and suitable radiation terms G and H such that the overspecified problem (1.1)-(1.7) is satisfied.

In section 2 we construct a system of Volterra integral equations equivalent to the direct problem and prove the existence and uniqueness of the solution to this system, then we prove the existence of solution to the original problem. The uniqueness of the solution will be considered in section 3. In section 4 we prove the stability of the solution.

2. Existence

In this section, we consider the problem of determining a solution (u, f, G, H) of problem (1.1)-(1.7). For this purpose, we introduce the following transformation

$$\tau = z(t) = \int_0^t a(y) dy. \tag{2.1}$$

Since

$$z'(t) = a(t) > 0 \tag{2.2}$$

z is an increasing function of t , and has an inverse w . By inverse function theorem w is differentiable and

$$w'(\tau) = [z'(w(\tau))]^{-1} = (a(w(\tau)))^{-1} = \frac{1}{a(t)}, \quad 0 < \tau < z(T) \tag{2.3}$$

Now, putting

$$U(x, \tau) = u(x, w(\tau)) \tag{2.4}$$

we have

$$U_\tau(x, \tau) = u_t(x, w(\tau))(a(w(\tau)))^{-1} = \frac{1}{a(t)} u_t(x, t) = u_{xx}(x, t) + f(t) = U_{xx}(x, \tau) + f(w(\tau)). \tag{2.5}$$

By putting $T_1 = z(T)$ the problem (1.1)-(1.7) in terms of $U(x, \tau)$ becomes

$$U_\tau(x, \tau) = U_{xx}(x, \tau) + f(w(\tau)), \quad 0 < x < 1, \quad 0 < \tau < T_1 \tag{2.6}$$

$$U(x, 0) = l(x), \quad 0 \leq x \leq 1 \tag{2.7}$$

$$U(0, \tau) = G(u_x(0, \tau)), \quad 0 \leq \tau \leq T_1 \tag{2.8}$$

$$U(1, \tau) = H(U_x(1, \tau)), \quad 0 \leq \tau \leq T_1 \tag{2.9}$$

and the overspecified conditions

$$U_x(0, \tau) = g(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.10}$$

$$U_x(1, \tau) = h(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.11}$$

$$U\left(\frac{1}{2}, \tau\right) = s(\tau), \quad 0 \leq \tau \leq T_1. \tag{2.12}$$

Now putting

$$F(\tau) = f(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.13}$$

and

$$U(x, \tau) = v(x, \tau) + \int_0^\tau F(\eta) d\eta, \quad 0 \leq x \leq 1, \quad 0 \leq \tau \leq T_1 \tag{2.14}$$

in terms of v we have

$$v_\tau(x, \tau) = v_{xx}(x, \tau), \quad 0 < x < 1, \quad 0 < \tau < T_1 \tag{2.15}$$

$$v(x, 0) = l(x), \quad 0 \leq x \leq 1 \tag{2.16}$$

$$v(0, \tau) = G(v_x(0, \tau)), \quad 0 \leq \tau \leq T_1 \tag{2.17}$$

$$v(1, \tau) = H(v_x(1, \tau)), \quad 0 \leq \tau \leq T_1 \tag{2.18}$$

$$v_x(0, \tau) = g(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.19}$$

$$v_x(1, \tau) = h(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.20}$$

$$v\left(\frac{1}{2}, \tau\right) = s(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.21}$$

so v specially satisfies

$$v_\tau(x, \tau) = v_{xx}(x, \tau), \quad 0 < x < 1, \quad 0 < \tau < T_1 \tag{2.22}$$

$$v(x, 0) = l(x), \quad 0 \leq x \leq 1 \tag{2.23}$$

$$v_x(0, \tau) = g(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.24}$$

$$v_x(1, \tau) = h(w(\tau)), \quad 0 \leq \tau \leq T_1 \tag{2.25}$$

Now we extend the function l to a bounded and continuous function with the same name which has compact support, and put

$$p(x, \tau) = \int_{-\infty}^{\infty} k(x - \mu, \tau) l(\mu) d\mu \tag{2.26}$$

where $k(x,t) = \frac{1}{\sqrt{4\pi t}} \exp\left\{\frac{-x^2}{4t}\right\}$ is the fundamental solution of the heat equation. Since $k_x(-x,t) = -k_x(x,t)$, the problem (2.22)-(2.25) has a solution of the form

$$v(x,\tau) = p(x,\tau) - 2 \int_0^\tau k(x,\tau-\eta)\phi(\eta)d\eta + 2 \int_0^\tau k(x-1,\tau-\eta)\psi(\eta)d\eta \tag{2.27}$$

if and only if [1]

$$\phi(\tau) = g(w(\tau)) - p_x(0,\tau) + 2 \int_0^\tau k_x(1,\tau-\eta)\psi(\eta)d\eta \tag{2.28}$$

and

$$\psi(\tau) = h(w(\tau)) - p_x(1,\tau) + 2 \int_0^\tau k_x(1,\tau-\eta)\phi(\eta)d\eta. \tag{2.29}$$

This is a system of Volterra integral equations of the second kind. Putting

$$\begin{aligned} H_1(\tau,\eta,\phi(\eta),\psi(\eta)) &= \\ H_2(\tau,\eta,\psi(\eta),\phi(\eta)) &= \\ 2k_x(1,\tau-\eta)\psi(\eta) &= \\ \frac{-1}{2\pi^{\frac{1}{2}}(\tau-\eta)^{\frac{3}{2}}} \exp\left\{\frac{-1}{4(\tau-\eta)}\right\} \psi(\eta) &= \end{aligned} \tag{2.30}$$

and noting that the relation $\exp(\frac{-1}{\alpha}) < \alpha$ is satisfied for any positive number α , we have

$$\begin{aligned} |H_1(\tau,\eta,\phi_1(\eta),\psi_1(\eta)) - H_2(\tau,\eta,\phi_2(\eta),\psi_2(\eta))| \\ \leq L(\tau,\eta) \{ \|\phi_1 - \phi_2\|_T + \|\psi_1 - \psi_2\|_T \}, \end{aligned} \tag{2.31}$$

where

$$L(\tau,\eta) = \frac{2}{\pi^{\frac{1}{2}}} (\tau-\eta)^{-\frac{3}{2}}, \quad 0 < \eta < \tau \tag{2.32}$$

Now, since

$$\int_{\tau_1}^{\tau_2} L(\tau_2,\eta)d\eta = \frac{4}{\pi^{\frac{1}{2}}} (\tau_2 - \tau_1)^{\frac{1}{2}} = \alpha(\tau_2 - \tau_1) \tag{2.33}$$

α is an increasing function and

$$\lim_{\tau \rightarrow 0} \alpha(\tau) = 0 \tag{2.34}$$

the system (2.28), (2.29) has a unique and stable solution (ϕ, ψ) [1]. Having found ϕ and ψ we obtain

$$U(x,\tau) = p(x,\tau) - 2 \int_0^\tau k(x,\tau-\eta)\phi(\eta)d\eta + 2 \int_0^\tau k(x-1,\tau-\eta)\psi(\eta)d\eta + \int_0^\tau F(\eta)d\eta \tag{2.35}$$

and noting that $k(-x,\tau-\eta) = k(x,\tau-\eta)$, from (2.12) and (2.35) and (2.35) we find

$$\begin{aligned} \int_0^\tau F(\eta)d\eta &= s(w(\tau)) - p\left(\frac{1}{2},\tau\right) \\ &+ 2 \int_0^\tau k\left(\frac{1}{2},\tau-\eta\right) \{ \phi(\eta) - \psi(\eta) \} d\eta \end{aligned} \tag{2.36}$$

and since

$$\frac{\partial}{\partial \tau} \int_0^\tau k(x,\tau-\eta)z(\eta)d\eta = - \int_0^\tau k_\eta(x,\tau-\eta)z(\eta)d\eta \tag{2.37}$$

differentiating (2.36) with respect to τ , using (2.26) and integrating by parts we find

$$\begin{aligned} F(\tau) &= s'(w(\tau))w'(\tau) \\ &- \int_{-\infty}^\infty k\left(\frac{1}{2}-\mu,\tau\right)l''(\mu)d\mu \\ &- 2 \int_0^\tau k_\eta\left(\frac{1}{2}-\mu,\tau\right) \{ \phi(\eta) - \psi(\eta) \} d\eta \end{aligned} \tag{2.38}$$

and so

$$\begin{aligned} f(t) &= \frac{1}{a(t)} s'(t) \\ &- \int_{-\infty}^\infty k\left(\frac{1}{2}-\mu,z(t)\right)l''(\mu)d\mu \\ &- \int_0^{z(t)} k_\eta\left(\frac{1}{2},z(t)-\eta\right) \{ \phi(\eta) - \psi(\eta) \} d\eta. \end{aligned} \tag{2.39}$$

Moreover from (2.36) we find

$$\begin{aligned} U(x,\tau) &= 2 \int_0^\tau \left\{ k(x-1,\tau-\eta) - k\left(\frac{1}{2},\tau-\eta\right) \right\} \psi(\eta)d\eta \\ &- p\left(\frac{1}{2},\tau\right) + s(w(\tau)) \\ &- 2 \int_0^\tau \left\{ k(x,\tau-\eta) - k\left(\frac{1}{2},\tau-\eta\right) \right\} \phi(\eta)d\eta \\ &+ p(x,\tau) \end{aligned} \tag{2.40}$$

thus

$$\begin{aligned} u(x,t) &= 2 \int_0^{z(t)} \left\{ k(x-1,z(t)-\eta) - k\left(\frac{1}{2},z(t)-\eta\right) \right\} \psi(\eta)d\eta \\ &- p\left(\frac{1}{2},z(t)\right) \\ &- 2 \int_0^{z(t)} \left\{ k(x,z(t)-\eta) - k\left(\frac{1}{2},z(t)-\eta\right) \right\} \phi(\eta)d\eta \\ &+ p(x,z(t)) + s(t) \end{aligned} \tag{2.41}$$

finally from (1.5), (1.6) and (2.41) we obtain

$$\begin{aligned}
 G(g(t)) = & 2 \int_0^{z(t)} \left\{ k(1, z(t) - \eta) - k\left(\frac{1}{2}, z(t) - \eta\right) \right\} \psi(\eta) d\eta \\
 & - p\left(\frac{1}{2}, z(t)\right) \\
 & - 2 \int_0^{z(t)} \left\{ k(0, z(t) - \eta) - k\left(\frac{1}{2}, z(t) - \eta\right) \right\} \phi(\eta) d\eta \\
 & + p(0, z(t)) + s(t)
 \end{aligned} \tag{2.42}$$

$$\begin{aligned}
 H(h(t)) = & 2 \int_0^{z(t)} \left\{ k(0, z(t) - \eta) - k\left(\frac{1}{2}, z(t) - \eta\right) \right\} \psi(\eta) d\eta \\
 & - p\left(\frac{1}{2}, z(t)\right) \\
 & - 2 \int_0^{z(t)} \left\{ k(1, z(t) - \eta) - k\left(\frac{1}{2}, z(t) - \eta\right) \right\} \phi(\eta) d\eta \\
 & + p(1, z(t)) + s(t).
 \end{aligned} \tag{2.43}$$

If we assume that both of functions g and h are bounded and invertible on $0 < t < T$, then putting $m = g(t)$ and $n = h(t)$, equations (2.42) and (2.43) yield, respectively

$$\begin{aligned}
 G(m) = & 2 \int_0^{z(g^{-1}(m))} \left\{ k(1, z(g^{-1}(m)) - \eta) \right. \\
 & \left. - k(1/2, z(g^{-1}(m)) - \eta) \right\} \psi(\eta) d\eta \\
 & - 2 \int_0^{z(g^{-1}(m))} \left\{ k(0, z(g^{-1}(m)) - \eta) \right. \\
 & \left. - k(1/2, z(g^{-1}(m)) - \eta) \right\} \phi(\eta) d\eta \\
 & + s(g^{-1}(m)) + p(0, z(g^{-1}(m))) - p(1/2, z(g^{-1}(m)))
 \end{aligned} \tag{2.44}$$

and

$$\begin{aligned}
 H(n) = & 2 \int_0^{z(h^{-1}(n))} \left\{ k(0, z(h^{-1}(n)) - \eta) \right. \\
 & \left. - k(1/2, z(h^{-1}(n)) - \eta) \right\} \psi(\eta) d\eta \\
 & - 2 \int_0^{z(h^{-1}(n))} \left\{ k(0, z(h^{-1}(n)) - \eta) \right. \\
 & \left. - k(1/2, z(h^{-1}(n)) - \eta) \right\} \phi(\eta) d\eta \\
 & + s(h^{-1}(n)) + p(1, z(h^{-1}(n))) - p(1/2, z(h^{-1}(n)))
 \end{aligned} \tag{2.45}$$

The above discussion shows the existence of the solution to problem (1.1)-(1.7) under the assumption that g and h are invertible.

3. Uniqueness

To prove the uniqueness, we consider again, the problem (1.1)-(1.7), and suppose this problem has two sets of solutions (u_1, f_1, G_1, H_1) and (u_2, f_2, G_2, H_2) . Then the equivalence of the problems (2.22)-(2.25) and the

system of integral equations (2.28), (2.29), and the uniqueness of the solution to this system of integral equations proves that $u_1 - u_2 = 0$ and $f_1 - f_2 = 0$ [1]. So we must only prove the uniqueness of G and H . For any $0 \leq t \leq T$, we have

$$\begin{aligned}
 G_1(g(t)) - G_2(g(t)) = & G_1\left(\frac{\partial u_1}{\partial x}(0, t)\right) - G_2\left(\frac{\partial u_2}{\partial x}(0, t)\right) \\
 & - u_1(0, t) - u_2(0, t) = 0
 \end{aligned} \tag{3.1}$$

and

$$\begin{aligned}
 H_1(h(t)) - H_2(h(t)) = & H_1\left(\frac{\partial u_2}{\partial x}(1, t)\right) - H_2\left(\frac{\partial u_2}{\partial x}(1, t)\right) \\
 & - u_1(1, t) - u_2(1, t) = 0
 \end{aligned} \tag{3.2}$$

So G_1 and G_2 are equal on the range of g . Similarly H_1 and H_2 are equal on the range of h , and the uniqueness of the solution to (1.1)-(1.7) is proved.

4. Stability

In this section we prove the stability of the solution to (1.1)-(1.7). Suppose that (u_1, f_1, G_1, H_1) and (u_2, f_2, G_2, H_2) are solutions to (1.1)-(1.7) for the given data (l_1, g_1, h_1, s_1) and (l_2, g_2, h_2, s_2) , respectively. Then (2.41) yields

$$\begin{aligned}
 |u_1(x, t) - u_2(x, t)| \leq & \frac{4}{\sqrt{\pi}} (z(T))^{\frac{1}{2}} \\
 & \left\{ \|\phi_1 - \phi_2\|_{z(T)}^{(0)} + \|\psi_1 - \psi_2\|_{z(T)}^{(0)} \right\} \\
 & + 2\|l_1 - l_2\|_{\infty}^{(0)} + \|s_1 - s_2\|_T^{(0)}
 \end{aligned} \tag{4.1}$$

Similarly we have

$$\begin{aligned}
 |G_1(g_1(t)) - G_2(g_2(t))| \leq & \frac{4}{\sqrt{\pi}} (z(T))^{\frac{1}{2}} \\
 & \left\{ \|\phi_1 - \phi_2\|_{z(T)}^{(0)} + \|\psi_1 - \psi_2\|_{z(T)}^{(0)} \right\} \\
 & + 2\|l_1 - l_2\|_{\infty}^{(0)} + \|s_1 - s_2\|_T^{(0)}
 \end{aligned} \tag{4.2}$$

and also

$$\begin{aligned}
 |H_1(h_1(t)) - H_2(h_2(t))| \leq & \frac{4}{\sqrt{\pi}} (z(T))^{\frac{1}{2}} \\
 & \left\{ \|\phi_1 - \phi_2\|_{z(T)}^{(0)} + \|\psi_1 - \psi_2\|_{z(T)}^{(0)} \right\} \\
 & + 2\|l_1 - l_2\|_{\infty}^{(0)} + \|s_1 - s_2\|_T^{(0)}
 \end{aligned} \tag{4.3}$$

where for any bounded function h belonging to $C^{(n)}[0, \alpha]$ we define the functional norm

$$\|h\|_{\alpha}^{(n)} = \sum_{k=0}^n \sup_{0 \leq z \leq \alpha} |h^{(k)}(z)| \tag{4.4}$$

and also for any bounded C^n function l defined on $(-\infty, \infty)$ we define the functional norm

$$\|l\|_{\infty}^{(n)} = \sum_{k=0}^n \sup_{-\infty < z < \infty} |l^{(k)}(z)|. \tag{4.5}$$

So from the stability of the solution to (2.28) and (2.29) we deduce the stability of the solutions for u, G, H .

Finally we note that for any nonzero x and any positive t the relation

$$|k_t(x, t)| < \frac{70}{|x|^3} \tag{4.6}$$

is satisfied [9]. Specifically for $x = \frac{1}{2}$ we obtain

$$\left| k_t\left(\frac{1}{2}, t\right) \right| < 560 \tag{4.7}$$

So if $a(t)$ has a positive minimum A on $0 \leq t \leq T$, from (2.39) we have

$$\begin{aligned} |f_1(t) - f_2(t)| \leq 1120z(T) & \\ \left\{ \|\phi_1 - \phi_2\|_{z(T)}^{(0)} + \|\psi_1 - \psi_2\|_{z(T)}^{(0)} \right\} & \\ + \frac{1}{A} \|s_1 - s_2\|_T^{(1)} + \|l_1 - l_2\|_{\infty}^{(2)} & \end{aligned} \tag{4.8}$$

and the stability of the solution to (1.1)-(1.7) is proved.

We summarise the above results in the following theorem:

Suppose l is a two times continuously differentiable function which is defined on $0 \leq x \leq 1$, a, s, g and h are

given functions on $0 \leq t \leq T$, g and h are piecewise-continuous, s is continuously differentiable, and a is a continuous function which has a positive minimum A . Then there exist unique functions u defined on D_T , f defined on $0 \leq t \leq T$ and unique functions G and H , where the domains of G and H include the ranges of g and h , respectively, and satisfy the problem (1.1)-(1.7). Moreover this solution is stable.

References

1. Cannon, J. R. *The One-Dimensional Heat Equation*, Addison-Wesely Co. Menlo Park, California, (1984).
2. Cannon, J. R. and Zachmann, D. Parameter determination in parabolic differential equations from overspecified boundary data, *Int. J. Eng. Sci.*, **20**, 779-788, (1982).
3. Cannon, J. R. and Duchateau, P. An inverse problem for a non-linear diffusion equation, *SIAM J. App. Math.*, **39**, 272-289, (1980).
4. Cannon, J. R. and Duchateau, P. Determining unknown coefficients in a non-linear conduction problem, *Ibid*, **24**, 298-314, (1973).
5. Savateev, E. G. On problems of determining the source function in a parabolic equation, *Journal of Inverse and Ill-posed Problems*, **3**(1), 83-102, (1995).
6. Shidfar, A. Identifying an unknown term in an inverse problem of linear diffusion equations, *Int. J. Eng. Sci.*, **26**(7), 753-755, (1988).
7. Shidfar, A. and Mohseni, K. Some inverse problems with explicit solutions, *Ibid*, **30**(3), 393-395, (1992).
8. Shidfar, A., Esrafilian, E. and Azary, H. An inverse problem with unknown radiation term, *Journal of Science I. R. Iran*, **6**(4), 247-249, (1995).
9. Shidfar, A. and Maalek Ghaini, F. M. A nonlinear inverse parabolic problem with unknown source-function, *International Journal of Applied Mathematics*, **2**(2), 147-158, (2000).